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TRICERATOPS

Measuring 9 metres in length, Triceratops
was about the same size as a modern African
elephant. This powerful beast had an enormous
neck frill and three large horns sprouting from
its huge skull. It likely moved about in herds for
protection and was a social animal.
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SPINOSAURUS

Spinosaurus was one of the largest known carnivorous
dinosaurs. Like a modern crocodile, it lived on land and

in water. A tall sail ran down its spine — nearly as tall as
a human!
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The word ‘Spinosaurus’ appears nine
times in this wordsearch.

Can you find all of them?
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